FREUe Afufae aRug

XSC-ECO-(Opt.})-SC
Science/Commerce

Class XI Examinafion, 2019

ECONOMIGS
( Optional )

Time : 3 Hours Full Marks : 100

g : 3 HS | | S quyish : 100
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GENERAL INSTRUCTIONS / €= {7y

1. Write your Name, Roll Code, Roll No., Registration No., Date of Exam.,
Sitting, Faculty and Name of the subject on the OMR Answer Sheet in the
space provided. Put your Full Signature on the OMR Answer Sheet in the

spacce provided.

1 A OMR IR TFF H & T % W @ | 39 39 [ ERER OMR 3w
e T g T FE W AL

3.  There arc 50 Multiple Choice Questions in all.
el 50 ag-fawedd W € |

3. All questions are compulsory. Each question carries 2 marks.

woft ov ARl § | w2 SR |
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4. Four options are given for each question numbered 1 to 4. Choose the
correct option and indicate it by blackening thé appropriate circle [ ® | in
the OMR Answer Sheet given separately. Use only Blue/Black Ball-Point
Pen. The use of Pencil is not allowed.

H e & A e (194 ) Ry T $ tﬁﬁaaﬁﬁmﬁqw@m'”“
ﬁﬁ@OMRmmmwnﬁﬁmmp | IR Pt gad A | e
I |- et 1 @ Jai 1) Sfeer o1 wahT atew &

S. Before leaving the examination hall hand over the OMR Answer Sheet to
the invigilator. Yc;u are allowed to take the question paper with you
ﬁmeﬁWOMRmmﬁwﬁvﬁaﬂﬁq | ST 31 E e
'{-"iTiT (_'I ST HE § - |

16 ™
Adhere to the instructions above very carefully otherwise your
OMR Answer Sheet will be invalid and it will not be evaluated.
St aftre it @ ergE e 2t
\-ammaman A TFH FET T AR IqY A T Ay . y
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The coefficient of range from the following data

24, 30, 64, 50, 34 and 72

will be
(1) 15 . ) 48
= sfteret &1 foraR o g
24, 30, 64, 50, 34 T 72
® s (2) 48
B 025 ° . @ os
2. The formula for constructing the Consumer Price Index is
1 ZPdg S FX
'x 100 0 2f
R @ 57
3) 1- 6 d? 4 ZzX
[ N3N N
ST e e ( eenis ) Fior 0 @ g g
2 P10 S fX
1 2) £J4
) /U’T 2 Pp4g x 100 : (2) Y f
6Y d2 X
3 1- oy, (4) ol
3. Who gave the welfare oriented definition of economics ?
(1) Adam Smith (2)  Alfred Marshall
(3) J. M. Keynes (4)  Irving Fisher,
o st = sreerret =hY seamor-Tart aRcaT SR R o
(1) - A fa M2)  UeThE Ot
(3) o THo FY (4)  RFEm fewr
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4. If Mode ( Z) = 16 and Arithmetic mean (X ) = 20, the median will be

| },ltr 186 ‘ (2) 17.5

3 156 . @) 145,
IS TG (Z) = 16 3R AR " (X ) = 20 2, i wifewrm @i
(1) 186 | @ 175
(3) 156 4) 145,
S. Where is Indian Statiétical Institute located ?
(1)  Delhi (2) Chennai
(3} Mumbai o (4)  Kolkata.
NS Fifmn! G el i § 2
(1) el | (2) =%
(3) = (#)  TPIeTRT |
6. A tax levied on individual’s income by Government is known as
(1) Direct Tax (2)  Indirect Tax
(3) . Gift Tax (4)  Property Tax.

TSR gRT WAl T AThdl @t 3F W AT STl ¢, 98 &
(1) wEE (2) 3T I
(3) SWR I (4) mﬁrma

7. CFC stands for

1) Hydrofluorocarbons (2) Ultrafluorocarbons
}3) Chlgroﬂuo;ocarbon (4) Photnﬂuorocarboﬁ :
CFC ®1 U Y & |
(1) FREFRwE (2) HACHFRIHEA
(3)  TARITeRIHEA @) SRIRRERA |

- | 4 of 16
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8. What is known as Navaratna ?
. (1) Private Enterprises (2)  Public Enterprises
() Both (1) and (2) (4)  None of these.
TR FE )
(1) =it swepy 12) I GICE R
@) (1) 3R (2) It (4) TG W
9. Human capital consists of
(1)  both workers and entrepreneur
\(Lf] workers
/5 (3) entire popuiation
- (4) entrepreneur.
AFE O F witafee &
/(i} STk AR Iat T (2) i
(3) wAOl SHEE @) s
10. An index for measuﬁng human development of any country is known as
(1) PPT (2) sBI
(3) RBI , _44)  HDL
wwﬁﬁ?ﬁ?ﬂﬁ?mﬁﬁﬂﬂﬁwg,g
(1) PPT (2) SBI
(3) RBI (4) HDI
11. Correlatibn coefficient is always |
(1)  more than 1 (2)  less than 1
AS)  between -1 and + 1 (4)  between -2 and + 2.
(1) 19 s (2 19y
@) -13R+ 1% @ -23R+2%4H9y
(XI)-40055
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12. Newspaper is a source of which type of data ?

(1)  Primary data ‘ }2) Secondary data
(3)  Both (1) and (2) (4)  None of these.
FIER UH {0 YR & 3ffes o1 i & 2

(1) et it (2) faeiias siimsr

(3) (1) ¥R (2) 3 (4) T Q FIE G |

13.  The formula of Quartile Deviation (Q.D.)is
Q; -Q

1 =3 x1
.( ) 0,70, 2 L-S

(3) Q3 + Ql 03 - Ol

2 A 7
U foae (Q.D.) A&

Q3 -9
1 =3 *1 -
0 o @ L-S
Q3 +Q Q-0
(3 =5 (4) ==L
14. Whose formula is considered ideal for the construction of index number ?
(1)  Paasche’s formula A2)  Fisher’s formula
(3) Laspeyer’s formula (4)  None of these.
T g3 1 gaeie Fmiv & o eyl am s g 2
(1) 9= &1 G 2 TwrR=E@
(3)  wifegat o g (4) T PE T
15. The formula for Standard Deviation is
(1) zsd ﬁd (2) - 5
2dy
o | >4
X
(3) ds 100 /lﬂ') N
T faae T A E :
s/d N
(1) ¥ (2) =
“ zdy
’Ed 2
g X
(3) ?)_{.— = 100 | (4) N .
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When was FEMA executed ?
(1) 1st June, 1973 (2) 2nd June, 2010
(3) 1st June, 2000 (4) 1st January, 2000.
%A1 ( FEMA ) %9 1] 3T ?
(1) 19, 1973 (2) 294, 2010

M1, 2000 (4) 1R, 2000.
To which type of infrastructure, is health related ?

(1) Economic (2) Social

(3) Both (1) and (2) these (4) None of these,
@y fHd weR @t st WAt # s E 2

(1)  onfers g RS

(3) (1) IR (2) A (4) T E B R
Which of the following items was not being exported prior to
independence ?
(1) Tea (2) Jute

(3) Engineering goods K (4) Cotton Textiles.
i & g Pt & Q - g Pt S R e e 2
(1) <™ (2 I
/(;3, $efbraftr =g @)
When was NITI Aayog constituted ?
(1) 1st January, 2014 ' (2) 1st June, 2015
/‘3) . 1st January, 2015 4) 1st A;)ril, 2014.

Hifer T T IS FH AT 7

1 1 FEd, 2014 (2) 15,2015

@ 1FEd, 2015 (4) 130, 2014.

'7 of 16



20.  When was NABARD constituted ?
,?) 12th July, 1982 (2) 12th July, 1983
43)  12th June, 1982 (4)  12th Junc, 1985.
RIS T et gon 2
(1) 12 5=w, 1082 (2) 12 9, 1983
(3) 125, 1982 (4) 12 74, 1985.

21.  If the monthly incomes (in Rs. )'of 6 familics arc as below @

1600, 1500, 1400, 1525, 1625, 1630, thc average income is
(1)  Rs. 1,547 (2) Rs. 1,450

(3) Rs. 1,647 (4) Rs. 1,500.
A% 6 URER F1 WiEE a1 (To § )
1600, 1500, 1400, 1525, 1625, 1630 &, d 3G 371G &l

(1) To 1,547 (2) To 1,450

-—

(3) Rs. 1,647 (4) e 1.500.

22. The valuc of a scrics that occurs maximum times in the scries, is

(1) Mcan (2)  Median

(3) Mode (4)  Dispersion.

frdil IO & 30 04 B HFEA & A FIH 340 AW 3w & 9

(1) "™ (2) iz
)3l ageTH (4) R

n3. Which of the following is an economic activity ?

(1) Consumption (2)  Distribution

(3)  Production (4) * All of these.

g @ B Tt T E 2

(1) Exiiul (2) foro

(3) SO A FTHE W

[x:“.AOOSS 8 of 16
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24. The following diagram is known as

25% 25%,

.

50%

(1)  Histogram
(3) Map
e o =1 7 Fea £ 7

(2) Ogive
(4)  Pic-diagram.

25% A

S0%

(1) sEa-fa= (2) drRv-fa=

M4 wE-fe o
A histogram is a graphical presentation of a frequency distribution of a
(1)  individual series

-~

(3) uHfE
25,)

(2) discrete series
(3) continuous series (4)  none of these,

HAq-oe 8 G@en F A ol w1 e w2

(1) AR e A2)  Eied gwen
(3) o e @) A
26. Urban areas mostly suffer from

(1) disguised unemployment (2) open unemployment

(3) seasonal unemployment (4) none of these,

vl &5 0 e UiEl e §
(1) 79 g W

,(21 Ié?ﬁq- "
(3) TR /e (4) T 9 =2
(XI)-40055
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27. Lowering the value of domestic currency in relation to other
the world is known as

currencics of

Balance of Trade

(1)  Devaluation (2)

(3) Revaluation (4)  Evaluation.
aﬁwﬁ@mq@ﬁqﬁwwﬁwﬁwﬁmmmg
}ll PRI ,}2] IR Gqe

(B) T ) i

28. Who was the first to use the concept of ‘Poverty Linc’ in India ?

(1) Mahatma Gandhi (2) Jawaharlal Nchru
[é] B. R. Ambcdkar (4) Dadabhai Naoroji.
iR # fos e % e ke Yar” # SR @ S R 2
(1)  HeTe 7 (2) SR TEw

(3) o 3Ro I=GH @ T IR |

29. The process of investment in education, improvement in hecalth and
providing training is known as

(1)  Physical Capital formation (2)  Industrial Capital formation
(3) Banking Capital formation  (4) Human Capital formation.
g sihpar frrs sierta Rl W PO, wReR T QR e s wftaf &, &
(1) e goft Frmior () e ot fmior

(3) S it Fior A% T el Fwir

30. Which type of unemployment is found in agricultural scclor ?
(1) Disguised employment (2)  Structural unemployment

(3) Industrial unemployment (4)  Educated uncmployment

#.gaﬁmmﬁéﬂwﬁqéﬁﬁ%?

) gt g R () W Ry
(3) s SR (4) T sy

(31}.40055 10 of 16-
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31. According to Tally bar method, which of the following symbols indicates
" frequency of 5 (five ) ? |

(1) IHJII_ 2
@ MW (4)"  None of thesc.
e an faftr gy Tt o @ w-w faew smgfa 5 (dm ) 1 e € 2
(1) W (2)
1) ™ . (4) TG FE T |
32. The difference in the lower and upper limits of a class is known as
(1) class interval (2) class limit
/{3} series (4) classification.
fordt =t =l Ioa we =7 A & SfeR W1 a1 W € 2
(1) tswE @
(3) gaen | (4) =TT |
33. The importance of correlation in economics is because it is
(1) not helpful in understanding economic behaviour
(2)  not helpful in research
(3)  not helpful in taking business decisions
(4) itl defines the cause-effect relationship between variables.
FrefoTel T TeEey w1 Hecd ¢, i
1) e s W wm b
(2) Y H HeEE W §
(3) cIEdias fote @R F W @ 8
AT 78 TR & 919 FRO-IRVIT G W FIAT L |

(XI)-40055 - . 11 of 16
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@ A Ty = 0, then relation between variables x and y

(1) s lincar (2)  is non-lincar
"(3) are independent (4)  nonc of these.
Ife rxy =0%Fﬁﬂ'{xaﬁ¥y%3ﬁﬂ
)+l e () i e T A
(3) @A W (4) 3 W & T
35. What is the simple meaning of statistics in plural sensc ?
(1) Data (2) Who population
(3) Economics (4) Sample.
Tge % B Wi W W o L )
() 3 (2)  EHU S
(3) 3w (4) e
36. The reform in a country’s monctary and banking policies is known as
(1)  Agricultural Reforms (2)  Political reforms
(3) Financial reforms (4) Religious reforms.
9 i Hifsw o Al gl § quR F S e 8
(1)  FNguR (2) T gur
gy fasita gur @) I quR
37. Rural poor includes
(1)  landless labourers only (2) marginal farmers only
(3)  poor farmers only (4)  all of them,
oot Fet | wfafes &
(1) e e e @) e i f
(3) O TE fEE . W e
(X1)-40055
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38. ° Who presented the First Five-Year Plan ?

(1) B. R. Ambedkar (2) Jawaharlal Nehru

(3) Indira Gandhi (4) - Mahatma Gandhi.
qeeil Yoast i @ R uﬁﬁ_m o ?
(1) o 3Ro a@a‘eh‘{ ’Y‘Z] AR &
@ i (4)  HTHT Y |
39.  Which type of seeds played a prominent role during Green Revolution ?
(1) HVI (2) HYV
(3). HVY | (4) HYL
e ifd & JRE 68 TR & o &t wg@ i of 2
(1) HVI ) HYV
(3) - HVY -4 HYL

40. An agricultural mechanism in which production of diverse variety of

crops, animal hu'sbandry and food processing is _given emphasis is known

as
(1)  Agricultural marketing (2)  Industrial growth
(3)  Organic farming -(4)  Diversification.

fpw i TR & 3fTa fafiE SRl wEEl F ITH, WEER $H wd @
TRERIUT 3T SR SgTe fea ST € 2 |

(1) T faaoE 2 e fowm
(@) Sfaw FN - AT fafatteror |

i3 of 16.
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41.

)

Published data are ................ data.

| (1} Primary (2)  Tertiary
(3) Secondary | (4)  None of these.
TRIT TG e, S Bid € |

(1) waiEs @ gelaeh

(3) feam=w (4) T Y FE T
Consumer Price Index number is also known as

(1) Cost of Living lndbx number

{2)  Wholesale pricc index

(3) Index number of industrial production

(%) None of these.

ITHT TG gOEi® o (B9 39 A9 | off §F S e 2

y; Sre THate Ara gasie (2) i HiEd GaHS
(3) ST IIEd T gEHih @) FTH 9 HE @
In the formula of Arithmetic mean
T=A+ 'Zfi_;‘j' , what is A if d = deviation and f = frequency ?
(1) Assumed Median (2) Assumed Range

(3) Assumed Mean (4) Assumed Mode.

oo T & g
_..l Z‘___d - 5 = ' = 2
XzA,,_Z%f_rmwaaﬁzd forerer, f= amgfa

g e (2) . v forem
(3) Ffoaqa AT (4) mﬁqﬁml

'x:[]-40055
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44. In calculation of weighted index number, Q, shows quantity of ..............
years.
(1) ten . (2) base
(3) current (4) none of these.
i et 3 amer i o, W FAE L % = T
(1) ¥ (2 MR
(8) TEHE (4) TH 9 HIE T |

45. If £ X=50and n=5, the value of x is
(1) 5 2) 1

/(8} 10 (4) 20.

ALY X=50Td n=5,a X = O &m
M s @ 1
(3) 10 (4)  20.

46. When did the Parliament of India pass the Natlonal Employment
Guarantec Act ?
(1) 1980 (2) 2012
(3) 2005 (4) 2018,
qﬁ?ﬂﬂﬁiﬂam@qﬂwmmmmﬁﬁ%mwm ?
(1) 1980 (2) 2012

/(3) 2005 | (4)  2018.

47. A process of utilising country’s resources into different development
activities in accordance with national priorities is known as
(1) Economic backwardness (2) Economic planning
(3) Both (1) and (2) (4)  None of these,
e wtpan foret Wi g it o SRR 21 % T @ o
fomraTees Brarell ST g &, e ¥

e g (2) e foiror

(3) (1) R (2) &AL 4 TS

(XX)-40055
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@ In India the first Iron and Steel I_ndustry was established in which year ?
(1) 1900 | (2) 1905
- {3 1907 - @) 1910.
R B G SR U W S ) e e g o 2
(1) 1900 (2) 1905
3) 1907 | (4) 1910.

49. The source(s) of human capital is / are

(1) investment in education (2) investment in health
(3) on the job training (4)  all of these.
= it T w5 i ¥
(1) Fendfew (2) w@rend fHaw
(3) w4 R Jo T F qdt
90. When was the first Five-Year Plan of China initiated ?
(1) 1950 | 2) 1 953
(3) 1960 , (4) 1978.
A F THT JITEE IS HT TR g8 o4l ?
(1) 1950 (2) 1953
(3) 1960 (4) 1978.
ITxI]-40055| 16 of 16




